O] y= bt-ct2 Q2 W30, b =82 m/s, c = 49 m/s? , t = X, y= O/F Et
2k b) A HE7F 00| &|=7}2

H A Ol TS AtO|E L [yn] = pyn-t B O [ SV I SUpv S SV (0 P
-)tlp) |_TXO1| HOI_I-O |I_dx[x] nx ! de/—] [x 2] ZXXZ ZXXZ ZX x% 2x\x
sol) ZE & CHRIAIZHoTH S QIx|tste - v =T, IX|0f EH*F AlZh o) Ao R | = &5
ans.) a)y=bt—ct29v—%=b—2ct \ /

b)v=0=b—2ct > t=2= 2 _grg N

2c 9.8m/s

259 £0[ 820 mOA| Z50| ZLSIHA LM IHHEQ| & HY e Of2 W2 7.68 m/s, ALY 2167 m/s
PFX|O|Ct, B E0] X B0 ESst= Al7H ZHHS A0FOIT}
> Sol) £7| K|y, = 82 m, MY 2| 8} Zdts THHO| XJ|&E v, = -7.68 m/s, MY =7 slZdts THHO| X7

S vy = 167 mys, MY We| RSt DHEE K2 % SSte TIRTIX| AIZEAF = At =ty , THEHO| X B
ol St Oy, = 0 m, y, = 0 m, O[T} A|ZH Zt2bt, 1, .

| | 1 |
V1 = Vo +Viot —ngz =82.0 m+(—7.68 m/s)¢ —5(9.80 m/s?) Yy =¥, +v20r—5g12 =82.0 m+(16.7 m/s)t —5(9.80 m/s* )¢
=3382s. 1, =6.136s. Afzfz—f1ﬁ2.755

ans.) 2f 2.752=2| ZtA S 7H4.



262t =0 M, §S9X| x, Ol St LA H8 vy 2 L2 xZ= WAL E ZA0|=0|, 2 x 5 Y2 3
2| @ 7R =7 HECEE a) MSRIKl x, 2 =SS0t 28 A2k b) M& XIS X2 e £35S ot

. 1 2 A
> Tip) T =x5+vpt+al” , sol)a) 7tE5E a=-a $X x=x,

5 2ol AlZHO] E|=0t=0 A&l AZHE t+0)

0|22 0=vot—sat? 7t El0] t =2vy/a 7t ECH

b) v =vy + (—a)t = vy — aRvy/a) = —v, NS=L1} &2 55, ¢ dak2 Bioj,

1, - O O L

2.63 £ 32 m/s2 502 of7| HO| 35 cm FH 2| 30| & WX LIL= ==0[ 18 m/s O|Ct. a) =E 0|5 WALt
0O 28 A[Zh2 ZOrRI7E? b) of7| HO| 2HHs| BEoH FH =

A0t OFSt=71?
> Tip) Y _U0+2a( ), sol) a) L5 18m/sE Vv E XS5 32m/s & V0 E, _,_|)t|tlﬂ|9}0I x-x0 & &
SOl &= oty A= ’S 2|SHH, (18 m/s)?%= (32 m/s)? +2a(0.35 m) E a=—1km/s? 7}& £C0| HD Ec-;
OIEEV:V +at§18_32—1000t t = 0014 =
b) 2HHS| HF7[25HA = a) A0 A $7HI01I O Skl= |IK[BH3EE x =

S0, ABEEE 09 50 CHA| 75}

(0m/s)%= (32m/s)2 —2000m/s? x (xm) 2 x =0.512 m 7} ElC}. =EO0| &7 51.2 cm.

—



btol_l_a 9|.b'— Al

296 Ol =Ko 75 = A|ZHO|| et X|==
=l 7tskL r?c gXﬂ?rg

A SEfOIM =2t 2, O £8HS Al
oto| 22| 0| sot=7t?

ol R
ruE -|>

do=Z
X2 Pof2f b) £HE Bets|

> Tips) £ =& 0| 251H 7t&5E, B2 M58 MESIH S, v(t) = [a(t)dt = a, [ et dt = —% e bt +C
a) v(t) = —% e7bt+ ¢, 7| M t=0 LI, v(0) =- 7+c oz XJ7|X=70| MX| AEjo|lE=Z
V(0) =- —2+C O §&3tE 4= C = < 7t=|0f v(0) = - ~°+ 22 =0, O] ELL F v(t) = —=F e™? +-¢ 7} &|Of
=51 )
b) A|Zt0] ot = ZICHH exponential €2 0 22 sHEEE Hx= LHSHA E. ’cf Cr )

5 HHOAE RArolN X HoiAuel & ol %2 a, % b
o) EH7 BAISHE 20| ofd YWY S 2 RA||HES0] Dol Alzre

x(t) = [v(t)dt =2 [(1 - e™) dt > oo

—_ -

= .
¥ == f'(x)=e* (OI2A|RZ[RIL) [ f (x)dx =[e*dx=e*+C (=5l A7] XL 0]E)
o K== 40t 0EA HHE fx)=e¥* = f'(x) =ae®*, [f'(x)dx= f%eax dx =e®™ +C

7 & 02 H& => exponential &2| 0|21t HZ : AiH e (e)| X|+&+E 0|2 ofH 1 XA EC
e



